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1. RISV DER (& 1-3)
(BRETFEIT7AILE :microbit-ren1-3-1)

1.1 micro:bit D EKRIEE for x in range(5):
led.plot(x, x)
[l%E 1-1] for y in range(5):
(RTFET74 L4 :microbit-reil-1-1) led.plot(y, 4 - y)
basic.show_leds(”””
R (RTFET7AIL4E : microbit-ren1-3-2)
#HHH#H for x in range(5):
HHEHHH led.plot(x, x)
CHHH led.plot(x, 4 = x)
CH# L
) (#5178 1-5]
(RTFET7AILE microbit-rei1-5)
(RTET7AIL4E :microbit-rei1l—1-2) for x in range(5):
def on_forever(): for y in range(5):
basic.show_leds(””” led.plot(x, v)
CHH . basic.pause(100)
HeEH#HH#H
HHHHH ({51 =& 1-6]
CHHH . (RTFET7AILE microbit-rei1-6)
LB x=0
rry while x <= 4:
basic.pause(500) led.plot(x, 4 = x)
basic.clear_screen() x +=1
basic.pause(500)
basic.forever(on_forever) 1.3 7005 LDERE (HIK)
1.2 7O L0OEE(BER, £YIRL) (BI7E 1-7]
(HRTFET7AILE microbit-reil-7)
(I%E 1-2] c=0
(RTFET7AIL4E : microbit-rei1-2) def on_forever():
led.plot(2, 0) global ¢
led.plot(2, 1) ¢ = randint(0, 1)
led.plot(2, 2) basic.show_number(c)
led.plot(2, 3) if c == 0:
led.plot(2, 4) basic.show_icon(IconNames.SMALL_DIAM
OND)
[ 78 1-3] else:
(RHFEIT74IL4A :microbit-rei1-3) basic.show_icon(IconNames.SQUARE)
for y in range(5): basic.forever(on_forever)
led.plot(2, y)
(451 %& 1-8]
[#E 1-1] (RTET7AIL%E :microbit-rei1-8)
(RTFET7AIL4E :microbit-ren1-1) c=0
for x in range(5): def on_forever():
led.plot(x, 2) global ¢
¢ = randint(0, 2)
[517E 1-4] basic.show_number(c)
(RTET7AIL4L : microbit-rei1-4) if c == 0:
for x in range(5): basic.show_icon(IconNames.SMALL_DIAM
led.plot(x, 4 = x) OND)
elif c == 1:
[#F 1-2] basic.show_icon(IconNames.SCISSORS)
(RTFET7A L4 :microbit-ren1-2) else:
for x in range(5): basic.show_icon(IconNames.SQUARE)
led.plot(x, x) basic.forever(on_forever)



[#FE 1-4]
JOg S LEL

HEE RS

(1)
(RTFET7AIL4E :microbit-ens1-1)
for x in range(5):
for y in range(5):
if x ==1y:
led.plot(x, y)
basic.pause(100)

(2)(a)
(RTFET7AIL4E : microbit—ens1-2-1)
for x in range(5):
for y in range(5):
if 4 - x<=y:
led.plot(x, y)
basic.pause(500)

(2)(b)
(RTFET7AIL4E : microbit—ens1-2-2)
for x in range(5):
for y in range(5):
ifx==yord-x==y:
led.plot(x, y)
basic.pause(500)

(2)(c)
(RTFET7AIL4E : microbit—ens1-2-3)
for x in range(5):
for y in range(5):
if x==2ory==2:
led.plot(x, y)
basic.pause(500)

(3)
(RTFET7AIL4E :microbit-ens1-3)
c=0
def on_gesture_shake():
global ¢

¢ = randint(0, 2)
basic.show_number(c)
if c == 0:
basic.show_icon(IconNames.SMALL_SQU
ARE)
elif ¢ == 1:
basic.show_icon(IconNames.SCISSORS)
else:
basic.show_icon(IconNames.SQUARE)
input.on_gesture(Gesture.SHAKE, on_gesture_sh
ake)

2. 70732270 R (B, &5l)
21 LohlthTr—L

(51 2-1]

(BRTFEIT7AILA :microbit-rei2-1)
a=0

b=0

c=0

def on_button_pressed_a():

global a, ¢

a = randint(0, 2)

basic.show_number(a)

c=a

hyou;ji()
input.on_button_pressed(Button.A,on_button_pre
ssed_a)

def on_button_pressed_b():

global b, ¢

b = randint(0, 2)

basic.show_number(b)

c=b

hyou;ji()
input.on_button_pressed(Button.B, on_button_pr
essed_b)

def hyouji():

if c ==0:

basic.show_icon(IconNames.
SMALL_DIAMOND)

elif c == 1:
basic.show_icon(IconNames.SCISSORS)

else:
basic.show_icon(IconNames.SQUARE)

(5% 2-2]

(BRFEIT7AILA :microbit-rei2-2)
a=0

b=0

c=0

d=0

def on_button_pressed_a():
global a, ¢
a = randint(0, 2)
c=a
hyou;ji()
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_ab():
global d
d=(a-b+3)%3
if d == 2:
basic.show_string("A”)
elifd == 1:



basic.show_string("B”)
else:
basic.show_string("AB”)
input.on_button_pressed(Button.AB, on_button_
pressed_ab)

def on_button_pressed_b():

global b, ¢

b = randint(0, 2)

c=b

hyou;ji()
input.on_button_pressed(Button.B, on_button_pr
essed b)

[(HE 2-1]

(RTFEIF7AIL4 : microbit-ren2-1)
a=0

b=0

c=0

d=0

def on_button_pressed_a():

global a, ¢

a = randint(0, 2)

c=a

hyou;ji()
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_ab():
global d
d=(a-b+3)%3
if d == 2:
basic.show_string("A” + “Kati”)
elifd == 1:
basic.show_string("B” + “Kati”)
else:
basic.show_string(”Hikiwake”)
input.on_button_pressed(Button.AB, on_button_
pressed_ab)

def on_button_pressed_b():

global b, ¢

b = randint(0, 2)

c=b

hyou;ji()
input.on_button_pressed(Button.B, on_button_pr
essed b)

def hyouji():
if c == 0:
basic.show_icon(IconNames.SMALL_DIAM
OND)
elif ¢ == 1:
basic.show_icon(IconNames.SCISSORS)
else:
basic.show_icon(IconNames.SQUARE)
basic.clear_screen()

22 HTT—L

(5 %8 2-3]

(BRFEIT7AILA :microbit-rei2-3)
kouho = 0

kotae = 0

kotae = randint(0, 2)
basic.show_number(kotae)

def on_button_pressed_a():

global kouho

kouho = randint(0, 2)

basic.show_number(kouho)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():
if kouho == kotae:
basic.show_icon(IconNames.HEART)
else:
basic.show_icon(IconNames.NO)
input.on_button_pressed(Button.B, on_button_pr
essed_b)

(45 '& 2-4]

(RTFET7AILE microbit-rei2-4)
kouho = 0

kotae = 0

kotae = randint(0, 4)
basic.show_number(kotae)

kouho = randint(0, 4)
basic.show_number(kouho)
hantei()

def hantei():

if kouho > kotae:
basic.show_arrow(ArrowNames.SOUTH)
basic.clear_screen()

elif kouho < kotae:
basic.show_arrow(ArrowNames.NORTH)
basic.clear_screen()

else:
basic.show_number(kouho)
basic.clear_screen()
basic.show_string(“Hit”)

def on_button_pressed_a():

global kouho
kouho += 1
hantei()

input.on_button_pressed(Button.A, on_button_pr
essed_a)

def on_button_pressed_b():

global kouho
kouho += -1
hantei()



input.on_button_pressed(Button.B, on_button_pr basic.show_number(c)
essed b)
def sum(a: number, b: number):

[T 2-2] s=0
(RTET7AIL4A :microbit-ren2-2) s=a+b
kouho = 0 return s
kotae = 0
kotae = randint(0, 4) (#& & 2-3]
if kouho == kotae: (BTFEI74IL4E microbit-ren2-3-1)
kouho = randint(0, 4) a: List[number] =[]
basic.show_number(kouho) x=0
hantei() al0] =3
a1l =2
def hantei(): al2] = 1
if kouho > kotae: al3] =5
basic.show_arrow(ArrowNames.SOUTH) a[4] = 4
basic.clear_screen() for z in range(5):
elif kouho < kotae: basic.show_number(a[z])
basic.show_arrow(ArrowNames.NORTH)
basic.clear_screen() (IRTFETF7AIL4L : microbit-ren2-3-2)
else: _ let a: number[] = []
basic.show_number(kouho) al0]1=3 a[1]1=2 a[2]1 =1, a[3] =5, a[4] = 4
basic.clear_screen,(l) ; for (let z = 0: z <= 4: z++) |
basic.show_string("Hit") basic.showNumber(a[z])
def on_button_pressed_a(): }
global kouho (4% 2-4]
kOUhOI =1 (RTFEI7AIL4 :microbit-ren2-4)
hantei() a: List[number] = []
input.on_button_pressed(Button.A, on_button_pr a=[1 2]
essed_a) b: List[str] = []

b=["AB”". “cd”"]
def on_button_pressed_b():

global kCiUho for i in range(2):
Eou:ol(i)-— -1 basic.show_number(ali])
antei

basic.clear_screen()

input.on_button_pressed(Button.B, on_button_pr for j in range(2):

essed_b) basic.show_string("” + b[j])
23 JST7DER (451 %8 2-6]

[ & 2-5] 5/1%:70?77411/48 :microbit-rei2—6)
(RTFET7AIL4 :microbit-rei2-5) a=1[3,2 1,5, 4]

a=1[3,21,5,4]

for i in range(5): for x in range(5):

basic.show_number(ali]) 2=0
basic.clear_screen() while z <= a[x] - 1:
for y in range(5): y=4-z
x = 0 led.plot(x, y)
while x <= aly] - 1: basic.pause(500)
led.plot(x, y) z +=1
x +=1

2.4 10 EHHMD 2 DE
(BEHOBIHERYIE(TTL)] EHND 2 EHA~DEH

(RHFET 74 )L 4 : microbit—-c23-kansu) ({558 2-7]
c=0 (RTET7AIL4L :microbit-rei2—7)
¢ = sum(3, 5)

basic.show_string(”3+5=")



xp: List[number] =[]
xp = [0, 0, 0, 0, 0]

for k in range(32):
DtoB(k)

def DtoB(k: number):
i=4
while j >= 0:
xplil =k % 2
k = Math.floor(k / 2)
_j —_=
Plot()

def Plot():
i=4
while i >= 0:
if xp[i] == 1:
X =i
for y in range(5):
led.plot(x, y)
i—=1
basic.pause(1000)
basic.clear_screen()

EEHE

(1)

(BRTFEIF7AIL4 : microbit-ens2-1)

yv2=0

a: Listlnumber] = []
a=1[3,2 1,5, 4]
plot()

def plot():
Graph_H()
basic.clear_screen()
Graph_V()

def Graph_V():
global y2
for x in range(5):
z=0
while z <= a[x] - 1:
y2=4-1z2
led.plot(x, y2)
basic.pause(500)

def Graph_H():
for y in range(5):

x2=0

while x2 <= aly] - 1:
led.plot(x2, y)
basic.pause(500)
x2 += 1
z += 1

(2)

(RTFET7AIL4E : microbit-ens2-2)
x=0

y=0

a: List[number] = []

a=1[3, 21,5, 4]

plot(0)
basic.clear_screen()
plot(1)

def plot(g: number):
global y
if g ==0:
for z in range(5):
b=0
while b <= a[z] - 1:
led.plot(b, z)
basic.pause(500)
b += 1
else:
for ¢ in range(5):
d=0
while d <= a[c] - 1:
y=4-d
led.plot(c, v)
basic.pause(500)
d+=1

3. EUHICKBEA-HETOT S L
3.1 micro:bit DEFEEH LI

(5178 3-1])

(BRTFET74IL%E :microbit-rei3-1)

def on_forever():
basic.show_number(input.light_level())
basic.clear_screen()
basic.pause(1000)

basic.forever(on_forever)

(&% 3-1]
(BRTFET7A4ILE :microbit-ren3-1)
def on_forever():
basic.show_number(input.acceleration(Dimen
sion.X))
basic.clear_screen()
basic.pause(1000)
basic.forever(on_forever)

3.2 E DI

(451 & 3-2]
(RTFET7AILE microbit-rei3-2)
def on_forever():
music.play_tone(262, music.beat(BeatFractio
n.WHOLE))



music.play_tone(294, music.beat(BeatFractio
n.WHOLE))

music.play_tone(330, music.beat(BeatFractio
n.WHOLE))

music.rest(music.beat(BeatFraction. WHOLE)
)

basic.forever(on_forever)

(#&& 3-2]
(RTFET7AIL4A : microbit-ren3-2)
def on_forever():

music.play_tone(262, music.beat(BeatFractio
n.WHOLE))

music.play_tone(262 * 2, music.beat(BeatFra
ction.WHOLE))

music.play_tone(262 * 4, music.beat(BeatFra
ction.WHOLE))
basic.forever(on_forever)

(#& & 3-3]
(RTET7AIL4 : microbit-ren3-3)
def on_forever():

music.play_tone(262, music.beat(BeatFractio
n.WHOLE))

music.play_tone(262 * 2, music.beat(BeatFra
ction.WHOLE))

music.play_tone(262 * 3, music.beat(BeatFra
ction.WHOLE))

music.play_tone(262 * 4, music.beat(BeatFra
ction.WHOLE))

music.play_tone(262 * 5, music.beat(BeatFra
ction.WHOLE))

music.play_tone(523, music.beat(BeatFractio
n.WHOLE))

music.play_tone(523 * 2, music.beat(BeatFra
ction.WHOLE))

music.play_tone(523 * 3, music.beat(BeatFra
ction.WHOLE))
basic.forever(on_forever)

[ 3-3]

(RTFET7A L4 : microbit-rei3-3)

def on_button_pressed_a():
music.start_melody(music.built_in_melody(Me

lodies.POWER_UP), MelodyOptions.ONCE)

input.on_button_pressed(Button.A, on_button_pr

essed a)

(& & 3-4]

(RTET7AIL4 :microbit-ren3-4)

def on_button_pressed_a():
music.start_melody(music.built_in_melody(Me

lodies.DADADADUM), MelodyOptions.ONCE)

input.on_button_pressed(Button.A, on_button_pr

essed a)

def on_button_pressed_b():

music.start_melody(music.built_in_melody(Me
lodies. POWER_UP), MelodyOptions.ONCE)
input.on_button_pressed(Button.B, on_button_pr
essed_b)

3.3 MEE LYY EMEoF=FHR - Hl

(451 '& 3-4]
(RTFET7AILE microbit-rei3-4)
def on_forever():
if input.rotation(Rotation.ROLL) < -10:
music.ring_tone(262)
elif input.rotation(Rotation.ROLL) > 10:
music.ring_tone(294)
else:
music.rest(music.beat(BeatFraction.SIXT
EENTH))

basic.forever(on_forever)

(#% & 3-5]
(RTFET7AILE microbit-ren3-5)
def on_forever():
music.ring_tone(2 * input.rotation(Rotation.R
OLL) + 262)

basic.forever(on_forever)
3.4 WKLY EEof-5 A - H 1=

(51 %8 3-5]
(RTET 74 IL4L :microbit-rei3-5)
AE =
def on_forever():
global AE
fAE = input.compass_heading()
if #E < 45:
basic.show_string("N™)
elif E > 315:
basic.show_string("N™)
else:
basic.clear_screen()
basic.forever(on_forever)

(151 %8 3-6]
(RTET7AIL42 :microbit-rei3—6)
AE =
def on_forever():
global AAE
fAE = input.compass_heading()
if AE < 45:
basic.show_arrow(ArrowNames.NORTH)
elif AE < 135:
basic.show_arrow(ArrowNames.WEST)
elif AE < 225:
basic.show_arrow(ArrowNames.SOUTH)
elif E < 315:
basic.show_arrow(ArrowNames.EAST)
else:



basic.show_arrow(ArrowNames.NORTH)
basic.forever(on_forever)

[#%E 3-6]
(RTET7A LA : microbit-ren3-6)
AE =0
def on_forever():
global AAE
AE = input.compass_heading()
if AE <23
basic.show_arrow(ArrowNames.NORTH)
elif A < 68:
basic.show_arrow(ArrowNames.NORTH_W
EST)
elif HE <113
basic.show_arrow(ArrowNames.WEST)
elif & < 158:
basic.show_arrow(ArrowNames.SOUTH_W
EST)
elif #E < 203:
basic.show_arrow(ArrowNames.SOUTH)
elif #E < 248:
basic.show_arrow(ArrowNames.SOUTH_E
AST)
elif #E < 293:
basic.show_arrow(ArrowNames.EAST)
elif & < 338:
basic.show_arrow(ArrowNames.NORTH_E
AST)
else:
basic.show_arrow(ArrowNames.NORTH)
basic.forever(on_forever)

3.5 SNt HEFEofE A HIH

[ %& 3-7]
(RTET7AIL4E : microbit-rei3-7)
def on_forever():
if input.light_level() < 1:
pins.digital_write_pin(DigitalPin.PO0, 1)
else:
pins.digital_write_pin(DigitalPin.PO0, 0)
basic.forever(on_forever)

EE A

(1)

(RTFEIT7A4IL% :microbit-ens3-1)
ans =0

value = 0

x=0

y=0

def on_forever():
global value, x, y
basic.clear_screen()
value = input.rotation(Rotation.ROLL)

calc()
X = ans
value = input.rotation(Rotation.PITCH)
calc()
y = ans
led.plot(x, y)
basic.forever(on_forever)

def calc():
global ans
ans = value / 10
ans = Math.round(ans)
ans = ans + 2
if ans > 4:
ans = 4
elif ans < 0:
ans = 0

(2)
(RTFET7AILE : microbit-ens3-2)
s=0
def on_button_pressed_a():
global s
if s == 0:
s=1
else:
s=0
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_forever():
if s == 0:
basic.clear_screen()
else:
basic.show_leds(”””
HeEH#HH#H
HeEH#HH#H
HeEH#HH#H
HeEH#HH#H
HeEH#HH#H
oy

basic.forever(on_forever)
4. BEBREEEFALEZTOIS A
41 ERBEOFNA

(4578 4-1]

(RTFET7AIL4L : microbitreid—1)

radio.set_group(1)

def on_button_pressed_a():
radio.send_string(“hello”)

input.on_button_pressed(Button.A, on_button_pr

essed a)

def on_received_string_deprecated(a):
basic.show_string(”” + (a))



radio.on_received_string_deprecated(on_receive
d_string_deprecated)

42 ERBEZFALELOAITAT—L

[ & 4-2]
(RTET7AIL4E :microbit-rei4-2)
radio.set_group(1)
a=0
def on_received_number_deprecated(b):
if a==bh:
basic.show_icon(IconNames.HEART)
else:
basic.show_icon(IconNames.NO)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

def on_button_pressed_a():

global a

a = randint(0, 2)

basic.show_number(a)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():

radio.send_number(a)
input.on_button_pressed(Button.B, on_button_pr
essed b)

(#5178 4-3]
(RTFET7AIL4L : microbit-rei4-3)
radio.set_group(1)

a=0
c=0
d=0
c=a
hyouji()

def on_received_number_deprecated(b):
global d
d=(a-b+3)%3
if d==2:
basic.show_icon(IconNames.HAPPY)
elifd == 1:
basic.show_icon(IconNames.SAD)
else:
basic.show_icon(IconNames.CONFUSED)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

def on_button_pressed_a():

global a, ¢

a = randint(0, 2)

c=—a

hyou;ji()
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():

radio.send_number(a)
input.on_button_pressed(Button.B, on_button_pr
essed_b)

def hyouji():
if c ==0:
basic.show_icon(IconNames.SMALL_DIAM
OND)
elif c == 1:
basic.show_icon(IconNames.SCISSORS)
else:
basic.show_icon(IconNames.SQUARE)

[#E 4-1]
TRISLEL
radio.set_group(1)ZZBLTERET 5,

4.3 ESHOH

(15 %8 4-4]

(RTFET7AILE microbit-rei4-4)

def on_forever():
pins.digital_write_pin(DigitalPin.P2, 1)
basic.pause(5000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)
basic.pause(1000)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)
basic.pause(4000)
pins.digital_write_pin(DigitalPin.PO0, 0)

basic.forever(on_forever)

(#&F& 4-2]

(RTFET7AIL4L : microbit-ren4-2-1)

def on_forever():
pins.digital_write_pin(DigitalPin.P2, 1)
basic.pause(4000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)
basic.pause(1000)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)
basic.pause(5000)
pins.digital_write_pin(DigitalPin.PO0, 0)

basic.forever(on_forever)

(RTFET7AIL4L : microbit-ren4-2-2)

def on_forever():
pins.digital_write_pin(DigitalPin.PO, 1)
basic.pause(5000)
pins.digital_write_pin(DigitalPin.PO0, 0)
pins.digital_write_pin(DigitalPin.P2, 1)
basic.pause(4000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)



basic.pause(1000)
pins.digital_write_pin(DigitalPin.P1, 0)
basic.forever(on_forever)

44 EBFEEICKDESTHOF MEH

(451 && 4-5]

(RTET7AIL4E : microbit-rei4-5)

radio.set_group(1)

def on_forever():
pins.digital_write_pin(DigitalPin.P2, 1)
radio.send_number(2)
basic.pause(4000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)
radio.send_number(1)
basic.pause(1000)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)
radio.send_number(0)
basic.pause(5000)
pins.digital_write_pin(DigitalPin.PO0, 0)

basic.forever(on_forever)

(451 %& 4-6]
(RTFET7AIL4E : microbit-rei4-6)
radio.set_group(1)
def on_received_number_deprecated(receivedNu
mber):
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)
if receivedNumber == 2:
pins.digital_write_pin(DigitalPin.P2, 1)
elif receivedNumber ==
pins.digital_write_pin(DigitalPin.P1, 1)
elif receivedNumber == 0:
pins.digital_write_pin(DigitalPin.PO0, 1)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

[#F 4-3]
JOJ S L%EL

(#&& 4-4]

(RTET7AIL4E :microbit-ren4—4-1)
radio.set_group(1)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.P0, 0)

def on_forever():
pins.digital_write_pin(DigitalPin.P2, 1)
radio.send_number(1)
basic.pause(4000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)

radio.send_number(2)
basic.pause(1000)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)
radio.send_number(3)
basic.pause(4000)
radio.send_number(4)
basic.pause(1000)
pins.digital_write_pin(DigitalPin.PO0, 0)
basic.forever(on_forever)

(RTFET7AIL4L : microbit-ren4-4-2)
radio.set_group(1)
def on_received_number_deprecated(receivedNu
mber):
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)
if receivedNumber == 1:
pins.digital_write_pin(DigitalPin.PO, 1)
elif receivedNumber == 2:
pins.digital_write_pin(DigitalPin.PO, 1)
elif receivedNumber == 3:
pins.digital_write_pin(DigitalPin.P2, 1)
elif receivedNumber == 4:
pins.digital_write_pin(DigitalPin.P1, 1)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

(5 %8 4-7]

(RTFET7AIL4E : microbit-rei4-7-1)
(EEA)

radio.set_group(1)
pins.digital_write_pin(DigitalPin.P2, 1)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)

def on_received_number_deprecated(receivedNu
mber):
if receivedNumber == 1:
basic.pause(2000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)
pins.digital_write_pin(DigitalPin.PO0, 0)
basic.pause(2000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)
radio.send_number(1)
basic.pause(4000)
radio.send_number(0)
pins.digital_write_pin(DigitalPin.P2, 1)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)



(RTFET7AIL4E :microbit-rei4—7-2)
(H1TER)

radio.set_group(1)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)

def on_received_number_deprecated(receivedNu
mber):
if receivedNumber == 1:
pins.digital_write_pin(DigitalPin.P2,
pins.digital_write_pin(DigitalPin.P1,
pins.digital_write_pin(DigitalPin.PO,
else:
pins.digital_write_pin(DigitalPin.P2,
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 1)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

1)
0)
0)

0)

def on_button_pressed_a():

radio.send_number(1)
input.on_button_pressed(Button.A, on_button_pr
essed a)

EE R
JO5 S L%EL
5. 7ILIdYXLETOTS A

51 &

[f51 %8 5-1]

(RTE T 744 :microbit-rei5-1)
b=0

a: List[number] =[]

a=1[6,4,2 37, 1,5]

def on_button_pressed_a():
global b
b = a[randint(0, 6)]
basic.show_number(b)
for i in range(7):
if ali] == b:
basic.show_icon(IconNames.HEART)
basic.clear_screen()
basic.show_number(i + 1)
basic.show_string(” BanMe!”)
break
input.on_button_pressed(Button.A, on_button_pr
essed a)

(#& & 5-1]

(RTFET7A LA :microbit-ren5-1)
sh=0

b=0

10

a: List[number] = []
a=1[6,4,237,1,5]

def on_button_pressed_a():

global b

b=((Mm+1)%10

basic.show_number(b)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():
global sh
sh = -1
for i in range(7):
if ali] == b:
sh =i
break
if sh >=0:
basic.show_icon(IconNames.HEART)
basic.clear_screen()
basic.show_number(sh + 1)
basic.show_string(” BanMe!”)
else:
basic.show_icon(IconNames.NO)
input.on_button_pressed(Button.B, on_button_pr
essed_b)

(5 %8 5-2]

(BREFEIT7AILA :microbit-rei5-2)
tmp =

g

a: List[str] =[]

a=["red”, “green”, “blue”,
" “yellow”, “white”]

cyan , magenta

def on_button_pressed_a():
global ¢, tmp
¢ = a[randint(0, 6)]
basic.show_string(c)
for i in range(7):
tmp = ali]
if tmp.compare(c) ==
basic.show_icon(IconNames.HEART)
basic.clear_screen()
basic.show_string(c)
basic.show_number(i + 1)
basic.show_string("BanMe!”)
break
input.on_button_pressed(Button.A, on_button_pr
essed_a)

(451 & 5-3]

(RTFET7AILE microbit-rei5-3)
b=0

i=0

i=0

m=0

a: List[number] = []



a=1[1,2,3 456, 7]

def on_button_pressed_a():
global i, j, b, m
i=0
j=6
b = a[randint(0, 6)]
basic.show_number(b)

while i <= j:
m = Math.idiv(i + j, 2)
if alm] > b:

basic.show_arrow(ArrowNames.WEST)
basic.pause(100)
j=m-1
basic.clear_screen()
basic.pause(100)
elif afm] < b:
basic.show_arrow(ArrowNames.EAST)
basic.pause(100)
i=m+ 1
basic.clear_screen()
basic.pause(100)
else:
basic.show_icon(IconNames.HEART)
break
input.on_button_pressed(Button.A, on_button_pr
essed a)

[#F 5-2]
TS L%EL

(45 && 5-4]

(RET 74 L4 :microbit-rei5—4)

cmp =0

m=0

="

i=0

i=0

a: List[str] = []

a =["blue”, “cyan”, “green”, “magenta”,
" “white”, “yellow”]

“red

def on_button_pressed_a():
global i, j, ¢, m, cmp
i=0
j=6
¢ = alrandint(0, 6)]
basic.show_string(c)
while i <= j:
m = Math.idiv(i + j, 2)
cmp = a[m].compare(c)
if cmp > 0:
basic.show_arrow(ArrowNames.WEST)
j=m-1
basic.pause(100)
basic.clear_screen()
basic.pause(100)
elif cmp < 0:

11

basic.show_arrow(ArrowNames.EAST)

i=m+ 1

basic.pause(100)

basic.clear_screen()

basic.pause(100)

else:

basic.show_icon(IconNames.HEART)

basic.show_number(m + 1)

basic.show_string("BanMe!”)

basic.clear_screen()

break
input.on_button_pressed(Button.A, on_button_pr
essed a)

52 3|

(5 & 5-5]

(HRTFET7AILE microbit-rei5-5)
let a: number[] = []

a=1[3 21,5, 4]

for (letj=4;j>0;j—) {
for (let k = O;k < j; k++) {
if (alk] > alk + 1]) {
let tmp = alk]
alk] = alk + 1]
alk + 1] = tmp
}
}
}
for (let | = 0; | <= 4; |++) {
basic.showNumber(all])

}

(% 5-3]

(BRFEIT74IL4E :microbit-ren5-3)
let a: number[] = []

a=1[3, 21,5, 4]

Plot2()

for (leti=4;i>0;i—){
for (let j = 0;j < i; j++) {
if (aj] > alj + 1) {

let tmp = a[j]
al[jl = alj + 1]
alj + 1] =tmp
}
}

}

basic.clearScreen()

Plot2()

function Plot2() {
for (let x = 0; x <= 4; x++) {
for (lety = 4;y >=5 — a[x]; y—) {
led.plot(x, y)
basic.pause(100)



basic.pause(500)
}

(#& & 5-4]
(RTET7AIL4 : microbit-ren5-4)
let a: string[] = []
az["gr” “ve”. "bl”. “re"]
for (leti=3;i>0;i—){
for (let j=0;j <i; j++) {
let cmp = a[j].compare(a[j + 1])
if (cmp > 0) {
let tmp = a[j]
aljl = alj + 1]
alj + 1] = tmp
}
}
}
for (let k = 0; k <= 3; k++) {
basic.showString(alk])
}

53 N/

[15I %8 5-6]
BEB(XFERBYDOER) OLRKICEKY, 5
—NTTEBERTELEL,

(BRTFEIF7AIL4 :microbit-rei5—6)
n=0

def on_button_pressed_a():

global n

n=1

basic.show_number(n)

basic.show_string(” Mai”)

hanoi(n, 1, 3)

basic.show_string(” End”)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():

global n

n=n+1

basic.show_number(n)

basic.show_string(” Mai”)

hanoi(n, 1, 3)

basic.show_string(” End”)
input.on_button_pressed(Button.B, on_button_pr
essed b)

def hanoi(n: number, a: number, b: number):
ifn>1:
hanoi(ln = 1, a, 6 —a — b)
basic.show_icon(IconNames.HEART)
basic.pause(1000)
basic.show_number(n)

12

basic.pause(500)

basic.show_string(String.from_char_code(64
+ a))

basic.pause(500)

basic.show_arrow(ArrowNames.SOUTH)

basic.pause(500)

basic.show_string(String.from_char_code(64
+ b))

basic.pause(500)

basic.clear_screen()

ifn> 1:

hanoi(n = 1,6 —a — b, b)

[#3% 5-5]
O3S L%EL

(BIRFUHEL@SL)]
(RTFET7AIL4A : microbit-c53—fact)
c=0
¢ = fact(5)
basic.show_number(c)
def fact(n: number):

if n!=0:

return n * fact(n - 1)
return 1

[#3% 5-6]
0535 L%EL

54 BERTHORNEEBR

(51 %8 5-7]

(BRFEIT7AILA :microbit-rei5-7)
s=0

s1 =1

def on_button_pressed_a():
global s
s0=0
if s == s0:
s = sl
elif s == s1:
syohin()
s =s0
basic.clear_screen()
else:
basic.show_icon(IconNames.NO)
basic.show_number(s)
input.on_button_pressed(Button.A, on_button_pr
essed_a)

def syohin():
basic.show_icon(IconNames. TARGET)
basic.pause(1000)

(45 %& 5-8]
(BREFEIT7AILA :microbit-rei5-8)
s=0



s0=0
s1 =1
s2 =2

def otsuri():
basic.show_icon(IconNames.SMALL_DIAMON
D)
basic.pause(1000)

def on_button_pressed_a():
global s
if s s0:
s =s2
elif s == s1:
syohin()
s = s0
basic.pause(1000)
basic.clear_screen()
elif s == s2:
syohin()
otsuri()
s = s0
basic.pause(1000)
basic.clear_screen()
else:
basic.show_icon(IconNames.NO)
basic.show_number(s)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_ab():

basic.show_icon(IconNames.NO)
input.on_button_pressed(Button.AB, on_button_
pressed_ab)

def on_button_pressed_b():

global s

if s == s0:
s = sl

elif s == s1:
s =s2

elif s == s2:
syohin()
s = s0

basic.pause(1000)
basic.clear_screen()
else:
basic.show_icon(IconNames.NO)
basic.show_number(s)
input.on_button_pressed(Button.B, on_button_pr
essed b)

def syohin():
basic.show_icon(IconNames. TARGET)
basic.pause(1000)

EE RS

13

(1)
(RHFEIF7AIL4A :microbit—ens5-1)
a: Listfnumber] = []
a=1[3, 21,5, 4]
i=4
while i > 0:
k=0
i=1
while j <=i:
if alj] > alkl:
k=3
j+=1
tmp =0
tmp = alk]
alk] = ali]
ali]l = tmp
i—=1
for I in range(5):
basic.show_number(all])

(2)(a)

(BRTFEIT7AILA :microbit—-ens5-2-1)
s=0

s1 =1

s2 =2

def on_button_pressed_a():

global s

s0=0

if s == s0:
s = sl

elif s == s1:
s = s2

elif s == s2:
syohin()
s =s0
basic.clear_screen()

else:

basic.show_icon(IconNames.NO)
basic.show_number(s)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def syohin():
basic.show_icon(IconNames. TARGET)
basic.pause(1000)

(2)(b)
(BRTFEIT7AILA :microbit—ens5-2-2)
s=0

s0=0
s1 =1
s2=2
s3=3
s4 =14

def otsuri():



basic.show_icon(IconNames.SMALL_DIAMON
D)

basic.pause(1000)

basic.clear_screen()

def on_button_pressed_a():
global s
if s >= s0 and s <= s2:
s +=2
elif s == s3:
s = s0
syohin()
elif s == s4:
s = s0
syohin()
otsuri()
else:
basic.show_icon(IconNames.NO)
basic.show_number(s)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_ab():

basic.show_icon(IconNames.NO)
input.on_button_pressed(Button.AB, on_button_
pressed_ab)

def on_button_pressed_b():
global s
if s >= s0 and s <= s3:
s += 1
elif s == s4:
s = s0
syohin()
else:
basic.show_icon(IconNames.NO)
basic.show_number(s)
input.on_button_pressed(Button.B, on_button_pr
essed b)

def syohin():
basic.show_icon(IconNames. TARGET)
basic.pause(1000)
basic.clear_screen()

6. BIELTOYSL

6.1 BEENEXK
[f51 %8 6-1]

(BRTFEIT74IL % :microbit-rei6-1)

radio.set_group(1)

def on_button_pressed_b():
radio.send_string(“hello”)

input.on_button_pressed(Button.B, on_button_pr

essed b)
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def on_received_string_deprecated(receivedStri
ng):

basic.show_string("” + (receivedString))
radio.on_received_string_deprecated(on_receive
d_string_deprecated)

(& 6-1]

(RTFET7AILE microbit-ren6-1)
radio.set_group(1)

a=0

def on_button_pressed_b():
global a
if a==0:
radio.send_string(“hello”)
else:
radio.send_string(“"world”)
a+=1
input.on_button_pressed(Button.B, on_button_pr
essed_b)

def on_received_string_deprecated(receivedStri
ng):

basic.show_string("” + (receivedString))
radio.on_received_string_deprecated(on_receive
d_string_deprecated)

6.2 RYLIT—DIZBIFBTRLYIUY

[15%E 6-2]
BE#H(XFHAFVYOEM OLEKICEYIS—
NTTHBREBRTEEL,

(RTFET7AIL4E : microbit-rei6-2)
message = "

yad = 0

myAddress = “”

yourAddress = 77
radio.set_group(1)

yourAddress = “2”

myAddress = “1”

def on_button_pressed_a():

global yad, yourAddress

yad =(yad + 1) % 9

yourAddress = String.from_char_code(yad +
48)

basic.show_string(yourAddress)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():

global message

message =~ + yourAddress + myAddress +
“hello”

radio.send_string(message)



input.on_button_pressed(Button.B, on_button_pr
essed b)

def on_received_string_deprecated(receivedStri
ng):
if myAddress receivedString[0]:
basic.show_string(receivedString.substr(2
, len(receivedString) — 2))
radio.on_received_string_deprecated(on_receive
d_string_deprecated)

[#F 6-2]
BEB(XFEEEBVOEM) ODEKRICKYIS—
NTTEHBEBRTEEL,

(RTFET7A L4 : microbit-ren6-2)
message =

yad = 0

yourAddress = 77

myAddress = 77
radio.set_group(1)

myAddress = “2”

yourAddress = “1”

def on_button_pressed_a():

global yad, yourAddress

yad = (yad + 1) % 10

yourAddress = String.from_char_code(yad +
48)

basic.show_string("” + (yourAddress))
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():

global message

message =~ + yourAddress + myAddress +
“hello”

radio.send_string("” + (message))
input.on_button_pressed(Button.B, on_button_pr
essed b)

def on_received_string_deprecated(receivedStri
ng):

if myAddress
edString[0] == "9”;

basic.show_string(receivedString.substr(2

, len(receivedString) — 2))
radio.on_received_string_deprecated(on_receive
d_string_deprecated)

receivedString[0] or receiv

6.3 BEE&EE

[151 %8 6-3]

E#(KFHERBEBYDOEMR) OHKICKYIS—
NTTEHBEBRTEEL,

(RTE T 744 :microbit-rei6-3)

15

msg3 _

msg2 = "
shift = 0
msg = "
shift = 5

def on_button_pressed_a():
global msg, msg2
msg = “dream”
meg2 =
i=0
while i <= len(msg) — 1:
msg2 = “” + msg2 + String.from_char_co
de(msglil.char_code_at(0) + shift)
i+=1
radio.send_string(”"” + msg2)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_received_string(receivedString):
global msg3
i=0
while j <= len(receivedString) — 1:
msgd = “” + msg3 + String.from_char_co
de(receivedString[jl.char_code_at(0) — shift)
j+=1
basic.show_string(”” + msg3)
radio.on_received_string(on_received_string)

(#% & 6-3]
PA=L A VN
(5 %8 6-4]
(RTFET7AILE microbit-rei6-4)
x=0

A=0

D=0

E=0

N=0

y=0

y=0

N =55

E=3

D=7

A=17

def on_received_number_deprecated(receivedNu
mber):

global y

y = receivedNumber ** D % N

basic.show_number(y)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

def on_button_pressed_a():
global x
x=A*xxE %N



basic.show_number(A)

radio.send_number(x)
input.on_button_pressed(Button.A, on_button_pr
essed a)

6.4 IT5—HH

[f51%& 6-5]
BEZE#EcEh0, BEEh,

(RTET74I)L4 :microbit-rei6-5)

JEE M

(1)

(RTET7AIL4E :microbit—-ens6-1)
wait_for_ack = 0
radio.set_group(1)

def on_button_pressed_b():

global wait_for_ack

wait_for_ack = 1

radio.send_string(“hello”)
input.on_button_pressed(Button.B, on_button_pr
essed b)

def on_received_string_deprecated(receivedStri
ng):
global wait_for_ack
if wait_for_ack == 0:
basic.show_string("” + (receivedString))
radio.send_string(“world”)
else:
wait_for_ack = 0
basic.show_string("” + (receivedString))
radio.on_received_string_deprecated(on_receive
d_string_deprecated)

(2)
TS L%EL

(3)
BEERTELRL, REEF,

(BRTFEIF7AIL4 : microbit-ens6-3)

7. REME

71 EEH(RISVITILEKER)

(RFE 774 L4 :microbit-hat7-1-1)

radio.set_group(1)

def on_forever():
pins.digital_write_pin(DigitalPin.P2, 1)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)
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radio.send_number(1)
basic.pause(4000)
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 1)
radio.send_number(2)
basic.pause(1000)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO, 1)
radio.send_number(3)
basic.pause(4000)
radio.send_number(4)
basic.pause(1000)
radio.send_number(5)
basic.pause(3000)
radio.send_number(6)
basic.pause(1000)
radio.send_number(7)
basic.pause(1000)
basic.forever(on_forever)

(RTFET7 4L 4 :microbit-hat7-1-2)
radio.set_group(1)
def on_received_number_deprecated(receivedNu
mber):
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)
if receivedNumber == 1:
pins.digital_write_pin(DigitalPin.PO, 1)
elif receivedNumber == 3:
pins.digital_write_pin(DigitalPin.P2, 1)
elif receivedNumber == 4:
pins.digital_write_pin(DigitalPin.P1, 1)
elif receivedNumber == 5:
pins.digital_write_pin(DigitalPin.PO, 1)
else:
pins.digital_write_pin(DigitalPin.PO, 1)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

(RTFE I 74 L% :microbit-hat7-1-3)
radio.set_group(1)
def on_received_number_deprecated(receivedNu
mber):
pins.digital_write_pin(DigitalPin.P2, 0)
pins.digital_write_pin(DigitalPin.P1, 0)
pins.digital_write_pin(DigitalPin.PO0, 0)
if receivedNumber == 1:
pins.digital_write_pin(DigitalPin.PO, 1)
elif receivedNumber == 5:
pins.digital_write_pin(DigitalPin.P2, 1)
elif receivedNumber == 6:
for index in range(5):
pins.digital_write_pin(DigitalPin.P2, 1)
basic.pause(100)
pins.digital_write_pin(DigitalPin.P2, 0)
basic.pause(100)
elif receivedNumber == 7:



pins.digital_write_pin(DigitalPin.PO, 1)
else:
pins.digital_write_pin(DigitalPin.PO, 1)
radio.on_received_number_deprecated(on_receiv
ed_number_deprecated)

7.2 CoAITAT—L(3 AXTE)

(RTFE T 744 microbit—hat7-2)
radio.set_group(1)

a=0

b=0

c=0

count = 0

d: List[number] =[]
d = [0, 0]

def on_received_number(receivedNumber):
global count, b, ¢
dlcount] = receivedNumber
count += 1
if count >= 2:
b = d[0]
c =d[1]
ifa==b and a
andal!=candb !=c:
basic.show_icon(IconNames.CONFUSE

== candb==coral!=b

D)
elif(a+1)%3==bor(a+1)%3==c:
basic.show_icon(IconNames.HAPPY)
else:
basic.show_icon(IconNames.SAD)
basic.pause(500)
count = 0
radio.on_received_number(on_received_number)

def on_button_pressed_a():

global a, ¢

a = Math.random_range(0, 2)

c=a

hyouji2()
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_ab():

control.reset()
input.on_button_pressed(Button.AB, on_button_
pressed_ab)

def on_button_pressed_b():

radio.send_number(a)
input.on_button_pressed(Button.B, on_button_pr
essed b)

def hyouji2():
if c == 0:
basic.show_icon(IconNames.SMALL_DIAM
OND)
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elif c == 1:
basic.show_icon(IconNames.SCISSORS)

else:
basic.show_icon(IconNames.SQUARE)

1.3 N ADE(BEHEIZKDSERT)

B (XFHEEVDOEMR E0OLHKICKYIS
—MNTTEHBER TS,

(RTFET7 4L 4 :microbit-hat7-3-1)
radio.set_group(1)
def on_button_pressed_a():
global n
n=23
basic.show_number(n)
basic.show_string(” Mai”)
hanoi(n, 1, 3)
basic.show_string(” End”)
input.on_button_pressed(Button.A, on_button_pr
essed a)

def on_button_pressed_b():

global n

n=n+1

basic.show_number(n)

basic.show_string(” Mai”)

hanoi(n, 1, 3)

basic.show_string(” End”)
input.on_button_pressed(Button.B, on_button_pr
essed_b)

n=0
def send_pop(bar: number):
msg = (bar * 100) + 20
radio.send_number(msg)
def send_push(bar: number, n: number):
msg2 = (bar * 100) + 10 + n
radio.send_number(msg2)
def hanoi(n: number, a: number, b: number):
ifn> 1:
hanoi(n - 1, a, 6 —a — b)
basic.show_icon(IconNames.HEART)
basic.pause(1000)
basic.show_number(n)
basic.pause(500)
basic.show_string(String.from_char_code(64
+ a))
basic.pause(500)
basic.show_arrow(ArrowNames.SOUTH)
basic.pause(500)
basic.show_string(String.from_char_code(64
+ b))
basic.pause(500)
basic.clear_screen()
send_pop(a)
send_push(b, n)



ifn>1:
hanoiln = 1,6 —a — b, b)

(RFET74IL4 :microbit-hat7-3-2)
bo2: List[game.LedSprite] =[]
n=20

mynum = 0

bar: Listfnumber] =[]

cmd =0

o=0

data =0

board1: List[game.LedSprite] = []
board3: List[game.LedSprite] = []
board5: List[game.LedSprite] = []
bar = [0, 0, 0, 0, 0]

mynum = 4

radio.set_group(1)

def on_button_pressed_a():
global mynum
mynum = (mynum + 1) % 4
basic.show_number(mynum)

input.on_button_pressed(Button.A, on_button_pr

essed a)

def on_button_pressed_b():
radio.send_number(100 + 20)

input.on_button_pressed(Button.B, on_button_pr

essed b)

def on_button_pressed_ab():
basic.clear_screen()
if mynum == 1:
push(3)
push(2)
push(1)

input.on_button_pressed(Button.AB, on_button_

pressed_ab)

def on_forever():
led.plot(mynum = 1, 0)
basic.forever(on_forever)

def on_received_number(receivedNumber):

global data, cmd, n
data = receivedNumber

if Math.floor(data / 100) == mynum:
cmd = Math.floor(data % 100 / 10)

n = Math.floor(data % 10)
if cmd == 1:

push(n)
elif cmd == 2:

pop2()

radio.on_received_number(on_received_number)

def pop2():
global o, bo2
j=0

18

while j <=5 - 1:
if bar[j] '= 0:
o = barlj]
if o ==
bo2 = board1
elif o == 2:
bo2 = board3
elif o == 3:
bo2 = boardd
bar[j] =0
k=0

while k <= len(bo2) - 1:
bo2[k].delete()
k +=1
break
j+=1

def push(n: number):
global board1, board3, boardb
bo: List[game.LedSprite] = []
if n==1:

board1 = [game.create_sprite(2, 0)]
bo = board1

elif n == 2:

board3 = [game.create_sprite(1, 0),
game.create_sprite(2, 0),
game.create_sprite(3, 0)]

bo = board3

elif n == 3:

board5 = [game.create_sprite(0, 0),
game.create_sprite(1, 0),
game.create_sprite(2, 0),
game.create_sprite(3, 0),
game.create_sprite(4, 0)]

bo = boardb

for i in range(5):

if i I= 0 and bar[i] == 0:

down(bo)

if i ==
bar[i] = n

elif barli + 1] '= 0:
bar[i] = n
break

def up(b: List[game.LedSprite]):
for | in range(len(b)):

b[l].change(LedSpriteProperty.Y, —1)

def down(b: List[game.LedSprite]):
basic.pause(500)
for m in range(len(b)):

b[lm].change(LedSpriteProperty.Y, 1)

BIETOTSL(RESRE)

(RTFET7AILE microbit—hat7-4)
sstring = 7"
radio.set_group(1)
def on_button_pressed_b():
global sstring
sstring = “s” + “hello”



radio.send_string(”” + (sstring))
input.on_button_pressed(Button.B, on_button_pr
essed b)

def on_received_string_deprecated(receivedStri
ng):
global sstring
if receivedString[0] == “s”:
basic.show_string(receivedString.substr(1
, len(receivedString) — 1))
sstring = “a” + “world”
radio.send_string(”” + (sstring))
else:
basic.show_string(receivedString.substr(1
, len(receivedString) — 1))
radio.on_received_string_deprecated(on_receive
d_string_deprecated)
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